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5. ldenufy the correct sequence 10 be followed while p@mng of final accoun
unt

(A) Profit and Loss Appropriation Acco

(B) Profit and Loss Account

(C) Trading Account

(D) Balance Sheet
Choose the correct answer from the options giv

en bé;)w :
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window dressing 18 a prachice

) W mampulate the accounts to show a better picture of the financial position than the A« tunl one

ud
(2) toshow excesive depreciaton.
(3) toavond tax.

(4) to reduce tax.

7. Match List-1 with List-I1. .“_
List-1 LisgA1

rl(.ﬂ;)_ _ S_al;}'];;;ﬂ;l;r_ - %I)_— C I'_-E_LEE_!T ;ﬁﬁt ;:I;;rt_n;:a(fa_piital Acc_duﬁl

:_é) Interest on partner’s loan o (Tii_ Debit ;iﬁ;e_ O}E;m;fjguﬁ;n_t_gczaﬁt_ |

|. (C) Interest on partner’s drawings | (1lI) Debit side of PTO?H and l_.nss Account

FI)) Additional capital introduced | (IV) Credit side of Partner's Current Account

Chc;ose the correct answer from the options given below :
i &)-0.®- 1. ©- - <!

@) (A)- (D), (B)- (1), (©) - (1), (D) - (IV) _C\

(@) (A)-(V), (B)- I, (©)- (D, ®)-O

@ (A, B) -V, ©- 0.0 5

\J

g would affect the Revaluatlon Account at the time of admission of a partner ?

<

8.  Which of the followin
(A) Increase in assets
(B) Drawings against capital
(C) Recording of unrecorded assets
(D) Decrease in liabilities

Choose the correct answer from the options given below :
0
\\ i

|

(1) (A),(B)and (C)only
(2) (A),(B)and (D) only T
(3) (A), (C)and (D) only E};

=

\ 4/ (B),(C)and (D) only
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Match List.] With Lisg.g ’
List.]
1
ﬂtems of cash fMlow) llm lﬂf p
l{A} Pumh”c " 'lv"lm actiy iy
. OF tangible assets O

'l“l cash equivalents

'(B) Icsuc of shares | ( .-:J' g
3 (m .nt! activity
(C) lm‘l‘eaﬁe IN Current assets .'"“ i activity
ncing ;
n Finall -
(D\ Markctable securities a —al

S I\ Cﬂ
Chm the correct answer from the oP#" 8

(1) (A)- . B)- . ©-an. @
@ (A)- 0@ -, ©-a -

3) (A)- (), B)- ). (©-Vr P “_;::

@ (A)-am, @ -av).©- @ (D) - (

ti
Which one of the following ar correc . N
(A) Expressed as a percentage on revenue opera

¥ o

' -
(B) Horizontal analysis %
(C) Vertical analysis L-é
(D) Expressed asa percentage On total assets S

¢ answer from the options given ﬁclow

Choose the correc 5 4
(1) (A).(B)and (D) only g

(2) (A), (B)and (C)only
(3) (A),(©) and (D) only
_(4), (B), (C) and (D) only

Calculate the

Acquired machinery for ¥ 3,50,000 by issuing chec%:.
(

(1) Investing activity and outflow ¥ 3,50,000 »;t

(2) Investing activity and inflow ¥ 3,50,000 ()

(3) Investing activity and no flow 3"

(4) Operating activity and outflow % 3,50,000
(

resulting cash flow and state the nature of cash flow from the following information
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12. Armmange the following in proper sequence while #wlrmg Cash Flow Statement
(A) Net cash flow from operating activities £
(B) Cash flow from financing activities |
(C) Cash flow from investing activities |
(D) Calculate net profit before tax and cxlraurdniiry items in working note
Choose the correct answer from the options given below :

(1) (A (B (). (D)
2) (D) (A (O)(B)~

Fal
(3) (B)L(A), (D). (O t\..
(& (O).(B)(D).(A) 11:
t:

calculating

13. The adjustment required for overvaluation of clogtng stock, while calculating adjusted profit for

goodwill 1s
(A) reduction from concerned year's profit.

%

INCIC)

(B) reduction from next year’s profit.
(C) addition to next year's profit.
(D) addition to previous year's profit.

Choose the correct answer from the options given below :

<

(1) (A), (B)and (D) only

() (A)and (C)only 3

(3) (A)and (D) only O

.~

() (B), (C)and (D) only 2

y O

14. Oversubscription is a situation where the O

(1) number of shares applied for is equal to theﬂmber of shares issued.

. (/Z)"/ﬁumber of shares applied for is more than the number of shares issued.

(3) number of shares applied for is less than the number of shares issued.
(4) face value of the share is less than the issue price of the share.
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6. When debentures are issued at premium and mk‘t‘mﬂ' o Pft‘n""ﬂ
following combination : {
(A} Dhscount on 1ssue of debentures account 18 tedited
(R} 1 oss on issue of debentures account Is debited
(C) Secunty premium account is credited ‘
(D) Premium on redemption of debentures account 18 credited
Choose the correct answer from the options given below - -y only
(1) (A). (B)and (D) only (2) U ). (B) and (
(3) (A)(B).(C)and (D) ": 4) (B) (C)aIId{D)ONY
17.  Match List-l with List-11. .
- Ne. be debited or credited)

(Name of account to be debited or
credited, when shares are forfeited)

(A) Share Capital Account

(B) Share Forfeited Account

F_Q (Amount t0
\

d with amount not received

() | Debite

() Credited with amoun

t not received

(C) Calls-in-arrears Account

() Credited with amount received towards shar: -

(D) Securities Premium Account

(IV) Debited with amount called up

Choose the correct answer from the options givenl}elow .

(1) (A)-(1).(B) - (1), (C) - (1), (D) - (IV)
(2) (A)-(IV).(B) - (1), (C) - (I1), (D) - (1)
0 A - (DB) - (), (C) - (IV), (D) - (11T

(4) rm-flln,rlin-uw,f(‘)-(l;,tD)-(Il)

—

— =
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was found undervalued by 10%. The value of mﬁ:hincry will appear in the new Balance Sheetat:
w S .
(1) ¥49,500 (2) ¥50,000 ~
(3) ¥40,000 (4 T40,500 -

e

Armange the follow ME N the conre

(A) Pavment 1o debenture |,“|d._:' MEENCe inghe come LR
(B Creation of DRR

() Issue ot debentures <

(M R‘-“""“P“““ boecomes due "

. e TR .
Choose the Correct answer from the options givey +
C below

()AL (B (O, ()
' t.‘.l'|~\l_n LRy Ty

() (BL AL MDY (O)
}7‘ ()L B, (D), (A

If a delay occurs bevo ® s
c vond 8 days in refunding the subscription am ]
subscription. from the date of closure of the subscri snoun. Tulling 1o gather the mintemumm
. S SO 1% »
e Of q"nph"m list, the company shall be liable for nterest at the
(N 15% ~ (2) 120
Nt = 0
3 6% * —
= (4) Prevailing in State Bank of India
-
A company can accept calls in advance, if auth'ésed by :
.\—-’
_ (1) Shareholders |3 (2) Board of Directors
(3) Artcles of Association <\ (4) Memorandum of Association

A. B and C are partners sharing profits in the ratio of 3 : 2 : 1. C died on 13 July, 2023. On this date, final
accounts were prepared to ascertain profits for the period. It resulted in a profit of T 1,75,000 to the firm. To

give effect to the above :
(1) Profit and Loss Account will be debited. ‘]
(2) Profit and Loss Appropriation Account wim)e debited.

(3) Profit and Loss Account will be credited. 'Iu:
gbe credited.

(4) Profit and Loss Appropriation Account w‘i

On the date of admission of a partner there wys a balance of T 45,000 in the account of machinery
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23. Diu:
Divideng received ; (8)
§

(1) Opera
Perating activity
(2) Financing activity
(3) Invcsting activity
(4)  Cash and cash equivalents

4. A partnership can have maximum 50 partners. This limit has bee

Ttﬂ\ Indian Partnership Act, 1932
(2) State Government
(3) Indian Contract Act, 1872

(4) Central Government

Which of the following is an example of sequential code ?
(1) Using Code “CL00] " for “Accounts of XYZ Ltd”.
(2) Using Code “100-199” for “Dealers of Small Pumps-

(3) Using Code «gJ” for “‘Sales Journals”.
(4) Using Code “HQ" for “Headquarters”.

26. If there is no claim against Workmen Compensation Reserve, it is

admission of a partner.
Fill in the blank with the correct answer fro
(1) debited to old partners' capital account.

(2) credited to all partners' capital accounts.

\/(3/) credited to old partners' capital accounts.
(4) debited to all partners' capital accounts.

27.

equally. The sacrifice or gain of partners are : 3 _ |

. (1 A gains 1/30; B gains 1/30; C sacrifices 2/30

~
3

(2) A gains 2/30; B gains 1/30; C sacrifices 3/30
(3) A sacrifices 1/30; B gains 3/30; C sacrifices 2/30
(4) A gains 2/30; B gains 3/30; C sacrifices 5/30

m the options given below.

n set by the :

A, Band C are partners sharing profits in the ratio of 3 :3:4. They decide to share the

g = [}

5l
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vg. Match List- with Ligegy, "' )
List-1 .

(Equal amount of drawingy made) 3 List-11
|(A) " At the end of each half year “'
()

h
4.5 monthg Interest calculated)

EE{_ _-\t thc beginning of each quarter

R 6.5 months
(O At the beginning of each month

1< o (1) 7.5 months
| (D) At the end of each quarter

L § o (Iv) 3 l:l_lﬂl‘llhs

T — 1

"hoosﬂ' [he correct answer from the options gwen bclﬁ;_ -
() (A= (D, (B) - D), (C) - (1), (D) - (IV)

2 (A)-(1.(B)- (), () - ), (D) - V) ;

(3) (A)-AV), (B) - (D), (C) - (1), (D) - (111) 4

L4 (A)- V), (B) - (IID), (C) - (1), (D) - (1) (

(’\

,_ .

](awta and Lalita arc partners, sharing ]Jroﬁt's]m the ratio of 2 : 1. They decide to admit Mohan for

1/4 share in future profits with a guaranteeqr amount of ¥ 25,000. Both Kavita and Lalita undertake to
meet the liability arising due to the guaranteed ﬁlount to Mohan in their respective profit sharing ratio. The
firm earned profits of ¥ 76,000 for the year 202

—23. The deficiency borme by Kavita is :
(1) T4,000 (2) 2,000 (3) T6,000 (4) 4,500

I Anshu and Nitu are partners, sharing profits in the ratio of 3 : 2. They admitted Jyoti as a new parter fc
3/10 share which she acquired 2/10 from Anshu and 1/10 from Nitu. Calculate the new profit sharing rat

of Anshu, Nitu and Jyoti. .,_f']]
l}1,)/4;3:3 (2) 3:4:3 (o () 3:3:4 4) 3:2:1
’—u.

. The journal entry for treatment of goodwill, when a new partner brings his share of goodwill in cash
one of the old partners gains, involves the following

(A) Gaining Partner’s Capital Account is debrte,d

+ (B) Premium for Goodwill Account is deblted
(C) Sacrificing Partner’s Capital Account is creélted
(D) Gaining Partner’s Capital Account is credited

Choose the correct answer from the options given below :

(1) (A), (B) and (D) only sz( (A), (B) and (C) only
() (A),(B), (C) and (D) (4) (B), (C) and (D) only

SPACE FOR ROUGH WORK
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ping Cash Flow Statement, purchase ul@udwﬂl is treated as :
While prepa ‘

3l ) o
1) ('bpc;.'llll'lp activiey cm) I mnmancing actwuy
| | |
(3)  Investmg activity 84) Exraordinary item
]

33, The components of Computerised Accounting Syst§m are :
(1) Data, Report, Ledger, Hardware, Software @)
(2) Data, People. Procedure, Hardware, Software q
(3) People. Procedure, Ledger, Data, Chart of Accounts

(4) Data, Coding, Procedure, Rules, Output

34. The Sales and Accounts Receivable Subsystem deals with :
(1) the recording of Sales, maintaining of Sales Le&er and Receivables
(2) the preparation of Budget for the coming ﬁnar@'al year

(3) the preparation of Profit and Loss Account, Baténce Sheet and Cash Flow Statement
(4) the purchase and payment to creditors o

3°

35. The common fields used in a relationship between 8165 are called :

(1) Joint fields &) Main fields
(3) Table fields (4) Key fields

36. On dissolution of a firm, bank overdraft is transferred to -

" 1) Bank Account (2) Realisation Account

(3) Partners’ Capital Account é‘l} Partners’ Loan Account

37. Arrange the following steps in the correct sequencd@f the

life of a company :
(A) Commencement of Business
(13) Incorporation

(C') Promouon

(12) Floatation

( "hoose the correct answer from the options gi\f

en WY

AOCO%O#

(A), (1) (! ), (1))
(1) 2) (A), (O), (B), (D)
) (C), (B), (D), (A)

-

(3) (13), (A), 1) 10
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i8.  Arrange the following in the correct order "“' '
(A) Subscribed Capital )
(B) Issued Capital '{ﬂ-j
() Authorised Capital 3°
(D) Paid-up Capital f(__;

(E) Called-up Capital
Choose the correct answer from the o
(1 (©) (B). (A), (D), (E)

@ (©). (B (A)(B), (D)

ptions given below :
(2) (B), (C), (A), (D), (E)
(4) (B), (C), (A), (E), (D)

The Deceased Partner's Capital Account includes the following amount/balances -

" (A) Opening balance of his capital q
(B) His share of profit/loss till the date of death(:]
(C) His share of General Reserve Rad
(D) His drawings till the date of death 3(2
(E) Amount paid to his executors O
Choose the correct answer from the options givefi pelow :
. () (A), (B), (D) and (E) only \ d

2) (A), (B),(C)and (D) only
(3) (A), (B)and (C) only
4) (A), (B), (C) and (E) only

Identify the correct sequence of the following_seps involved in calculatin cash flows from ©
g

activities of a company :

(A) Operating profit before working capital chagges
(B) Cash generated from operations
(C) Income tax paid

(D) Net cash flow from operating activities O

(E) Goodwill amortised :

Choose the correct answer from the options given below :

(1) (E), (C), (D), (A), (B) (2) (E), (A), (D), (B), (O)
() (E), (A), (B), (C), (D) () (A (B), (C), (D), (E)

—
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{ l"f ﬂvl
efd‘the follo ing inf. . 'H ne
Pam'cmam Ormation carefully and an** %
._R___ — r [ (]
| Reve o {
—_ T*‘i'ﬂul.’ from “T‘U'Hlinns L R.75,000 EET
| Creditors 90,000 C,J
Bills Receivable 48,000 <]
Bills Payable 52.0'001
Purchases . 430-@
" 59,000
Trade Debtors sl
4
Rﬂliﬂ- . 1
41. Calculate Trade Receivables Tumover ) 8.23
g.8l: !
(1) 8.18 times g) I
(3) 8.18% O
4. Calculate Average Collection priod o) 60 days
(1) 30days @) 15 days
(3) 45 days
Ratio.
43. Calculate Trade Payables Tumover ) 2.96 times
(1) 29.6 times ﬁ) .
(3) 29.6% 3
44. Calculate Average Payment Period. o
@) 121 days
(1) 123 days
45. Trade Receivables Tumover Ratio and Trade Payables Turnover Ratio are categorised as :
(1) Liquidity Ratio (2) Solvency Ratio
(3) Activity Ratio 4) PrDﬁtability Ratio
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0! Br ing carefully .
nlltl""“ﬂ illy and answer the next five questions :

:. B were partners l“I.Il"I-rIII"I}l a partership for last 10 years, sharing profit and loss |
» i their firm was afTected badly and started incurring losses On V™ March “". the ratie of = .
. frm due (o continuous losses. Their capital balances were ¥ 4,00 006 v 1.'::‘ they all decided 1.
i‘"'hf . Firm had lhablhities T 80,000, Cash haﬁﬂuc 40,000, other Sundry ».'\“cth :‘“: "l ¥ 200 000y
sgpec™ 1;:""1 the rest. Assets realised at 80% and {idbilities were paid in full. There was T...-."n,:.m and P&
ed at T 40,000. Realisatiorflxpenses amounted to ¥ 30,000, being pa::;:‘:d::i':a::t-:
half

Joo . was seftl
pe 500 i
fthe fyrm- Be
C wpatis e mode of dissolution of the firm foll®ed by G, K and B ?
W W Disw]u[ion by Agreement O
::: On the happening of certain conﬁngencies<]
1;3 [}issolll[iﬂﬂ by Notice

{;] Compulsﬂfy DiSSDIutiO“
unt of Profit and Loss Account.

Winetheamo
) (Cr)T90000 (2) (Dr)T90,000
3 (Cr)T1:30.000 & @ (@r)%1,30,000
Determine Gain/Loss on Realisation. g
(1) LossT2:40,000 | (2) Gain¥ 24,000
2 (4 LossT210000

(3) Loss¥ 1,70,000

The entry for realisation €Xpenses in above caseXtudy will be :

(1) Realisation A/c Dr. q
To Cash A/c

(2) Realisation A/c Dr.
| To G’s Capital A/c

(3) G's Capital A/c Dr.
To Realisation A/c

(4) Cash A/c Dr. g
++

To Realisation A/c
he firm will be shared/borne by partners in the ratio :

2 (2) Equal Ratio
(4) Ratio of closing capital claims

Existing Profit and Loss Account in the books
) 5:3:2
3) 4:3:2

SPACE FDQ:!IOUGH WORK




{ "type": "Form", "isBackSide": false }


{ "type": "Form", "isBackSide": false }


{ "type": "Form", "isBackSide": false }


{ "type": "Form", "isBackSide": false }


{ "type": "Form", "isBackSide": false }

